Fact Sheet Appendix F-5(b)
City of Calistoga NPDES Permit Reissuance

RPA Resutls for Outfall 002

[Eeginnin Step2 [Step3 Step2 _[Step3 Steps Step6 Steps7&8 [Final Resul
Concentration from
C (ng/L) the effluent (MEC) MECvs.C Bvs.C 7) Review other information in
Towest (most the SIP page 4. Ifinformation is
stringent) Ifall datapoints |  Enterthe (MEC= deteted If all data points ND | Enter the unavailable or insufficient: 8)
Criteria (Enter ||Effluent Data| Are all data | ND Enter the min [ pollutant efluent max value; if all ND & | 1. If MEC> or =C, effluent imitation B AreallBdata | Enter the min pollutant B the RWQCB shall establish
"No Criteria" || Available | pointsnon- | detectionlimit | detected max | Ifall data points are ND and MinDL>C, | MDL<C then MEC = | s required; 2. If MEC<C, goto Step | | Available | points non- detection limit | detected max | Ifall Bis ND, is [If B>C, effluentlimitationis |interim monitoring RPA
Constituent name for no criteria) [ (V/N)?__|detects (Y/NY2| _(MDL) (ua/l) conc (ua/L) interim monitorin is reauired MDL) 5 (YINY?_| detects (y/N)2 | (MDL) (ua/Ly conc (uall) MDL>C? _|required Result Reason
Antimon 14 Y N 12 1 EC<C. gotoStep 5 Y N 07 <C.Step 7 o EC<C &B<C
Arsenic 150 Y N 16 1 EC<C.aoto Step 5 Y N 6 <C. Step 7 o EC<C &B<C
Beryllium No Criteria Y Y 02 No Criteria No Criteria o Criteria Y Y 006 N o Criteria No Criteria o[ No Criteria
Cadmium 808745404 Y N 02 ¥ EC<C. o to Step Y Y 003 N o detected value of B, Step 7 o [UdMEC<C&Bis ND
5a__|Chromium (i) 454486603 Y N 03 ¥ EC<C. qo to Step Y N 06 <C. Step 7 o EC<C & B<C
5b Chromium (V1) 1.43451143 Y Y 05 All ND. MDL<C. MEC=MDL . EC<C. qo to Step Y Y 0.15 N lo detected value of B. Step 7 lo Ud:MEC<C & B is ND
Copper 456025767 Y 8. . EC>=C, Effluent Limits Required Y 11 <C. Step Yes |MEC>=C
ead 838582684 Y 098 0.9 EC<C. o to Step Y 021 <C. Step No EC<C &B<C
eroury. 0.025 Y 00074 0.0074 EC<C. qo to Step Y 0015 <C. Step s [BPJ
ickel 36.2315087 Y 2. 24 EC<C. o to Step Y 4 <C. Step o EC<C&B<C
elenium 5 Y 05 Al ND, MDL<C. MEC=MDL 05 EC<C. qo to Step Y 03 N o detected value of B, Step 7. o [UdMEC<C &B1is ND
iiver 1.93468806 Y 02 02 EC<C. o to Step Y 003 <C. Step o EC<C&B<C
hallium 17 Y 0.04 004 EC<C. qo to Step Y 02 <C. Step o EC<C &B<C
inc 83.17505751 Y 44 44 EC<C. qo to Step Y 2 <C. Step o EC<C &B<C
Cyanide ¥ Y 92 92 EC>=C, Effluent Limits Required Y 0197 <C. Step s [MEC>=C
Asbestos 7000000 Y X Al ND. MDL<C. MEC=MDL 0,02 EC<C. o to Step Y 019 N o detected value of B. Step 7 o [UMEC<C&Bis ND
23,7.8-TCDD 0000000013 Y Y 0.00000063 AIlND, MinDL>C, Go o Step 5. & IM Y Y 0.00000063 Y o detected value of B, Step 7 0 o[ UD; effluent data and B are ND
TCDD TEQ 0.000000013 Y N 6.7E-10 6.7E-10 MEC<C_qo (o Step 5 Y N 6.57E-10 <C. Step 7 o EC<C & B<C
7| Acrolein Y Y 056 Al ND, MDL<C. MEC=MDL 056 MEC<C. qo (o Step 5 Y Y 1 N o detected value of B, Step 0 |Ud:MEC<C & B is ND
Acrvionitrile 0.059 Y Y 0.33 AllND. MinDL>C. Go to Step 5. & IM Y Y 1 Y lo detected value of B, Step lo UD: effluent and B are ND
Benzene 12 Y Y 006 AIlND, MDL<C. MEC=MDL 0.06 EC<C. o (0 Step Y Y 027 N o detected value of B, Step o [UEMEC<C&Bis
Bromoform 4.3 Y N 0.8 0. EC<C. qo to Step Y Y .1 N lo detected value of B, Step lo Ud:MEC<C is
Carbon 025 Y Y 006 Al ND, MDL<C. MEC=MDL 006 EC<C. qo to Step Y Y .4 Y o detected value of B, Step 0 |UdMEC<C&Bis
C 680 Y Y 006 AIlND. MDL<C. MEC=MDL 006 EC<C. qo to Step Y Y o detected value of B, Step o |UdMEC<C&Bis
C 041 Y N 11 1 EC>=C, Effluent Limits Required Y Y o detected value of B, Step Yes [MEC>=C
c No Criteria Y N 31 No Criteria No Criteria o Criteria Y Y o Criteria No Criteria Uo__|No Criteria.
2-C} ether No Criteria Y Y 01 No Criteria No Criteria o Criteria Y Y o Criteria. No Criteria Uo | No Criteria
Chioroform No Criteria Y N 34 No Criteria No Criteria lo Criteria Y Y lo Criteria No Criteria Uo lo Criteria
X Y N 22 2 EC>=C, Effluent Limits Required Y Y o detected value of B, Step 7. s [MEC>=C
- No Criteria Y Y No Criteria No Criteria lo Criteria Y Y lo Criteria No Criteria o lo Criteria
X 0 Y Y AllND, MDL<C. MEC=] 006 EC<C.qoloStep 5 Y Y o detected value of B, Step 0 |UdMEC<C&Bis ND
- 0.057 Y Y Al ). MinDL>C. Go to Step 5. & IM Y Y lo detected value of B, Step lo UD: effluent and B are ND
X X Y Y AIlND, MDL<C. MEC=MDL 0.05 EC<C. o (0 Step Y Y o detected value of B, Step o [UEMEC<C&Bis
- 1 Y Y All ND. MDL<C. MEC=MDL 0.05 EC<C. qo to Step Y Y lo detected value of B, Step lo Ud:MEC<C is.
31 Y Y AIlND, MDL<C. MEC=MDL 0.06 EC<C. qo to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
lethvl Bromide A Y N 0.6 0.6 EC<C. qo to Step Y Y lo detected value of B, Step lo Ud:MEC<C is
ethyl Chioride No Criteria Y N 9 Criteria No Criteria o Criteria Y Y o Criteria No Criteria o Titeria
lethviene Chioride 4. Y N 05 05 EC<C. qo to Step Y Y lo detected value of B, Step lo Ud:MEC<C is
1.2.2-Te 017 Y Y 006 Al ND, MDL<C. MEC=MDL 0.06 EC<C. qo to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
08 Y Y 006 AIlND. MDL<C. MEC=MDL 0.06 EC<C. o to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
oluene 6800 Y N 17 17 EC<C. qo to Step Y Y o detected value of B, Step o |UdMEC<C&Bis
.2-Trans-| Y Y All ND. MDL<C. MEC=MDL 0.05 EC<C. qo to Step Y Y lo detected value of B, Step lo Ud:MEC<C is
LT No Criteria Y Y No Criter No Criteria o Criteria Y Y o Criteria No Criteria o Titeria
.1.2-Tr 0.6 Y Y All ND. <C. MEC=MDL 0.07 EC<C. qo to Step Y Y lo detected value of ten lo Ud:MEC<C is
2.7 Y Y Al ND, MDL<C. MEC=! 006 EC<C. qo to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
invl Chioride Y Y AIlND. MDL<C. MEC=MDL 05 EC<C. o to Step Y Y o detected value of B, Step o |UdMEC<C&Bis
X 120 Y Y 6 Al ND, MDL<C. MEC=! .6 EC<C. qo to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
A 9: Y Y .7 All ND. <C. MEC=MDL .7 EC<C. qo to Step Y Y lo detected value of ten lo U EC<C is.
4 540 Y Y .9 Al ND, MDL<C. MEC=! X EC<C. qo to Step Y Y o detected value of B, Step o [UdMEC<C&Bis
-Methyl- 4.6-Di 13.4 Y Y .9 Al ND., <C. MEC=MDL . EC<C. qo to Step Y Y lo detected value of ten lo U EC<C is.
4 7 Y Y .6 AIND, MDL<C. MEC=! X EC<C. qo to Step Y Y o detected value of B, Step 0 |UdMEC<C&Bis
h | No Criteria Y Y .7 No Criteria No Criteria lo Criteria Y Y lo Criteria No Criteria o lo Criteria
Nitrophenol No Criteria Y Y No Criteria No Criteria o Criteria Y Y o Criteria. No Criteria o[ No Criteria
-Methyl 4-C| No Criteria Y Y No Criteria No Criteria o Criteria Y Y o Criteria No Criteria o[ No Criteria
.2 Y Y Al inDL>C, Go to Step 5. & IM Y Y o detected value of B, Step o[ UD; effluent data and B are ND
Phenol 21000 Y Y AIlND. MDL<C. MEC=MDL 0. EC<C_aoto Step 5 Y Y o detected value of B, Step o [UdMEC<C&B s Ni
2.46°Tr 21 Y Y X AIlND, MDL<C. MEC=MDL 0. EC<C.qotoStep 5 Y Y ¥ o detected value of B, Step 0 |Ud:MEC<C&B is ND
1200 Y Y 003 AIlND. MDL<C. MEC=MDL 003 EC<C. a0t Step 5 Y Y 017 o detected value of B, Step o [UdMEC<C&Bis ND
No Criteria Y Y 002 No Criter No Criteria o Criteria Y Y 003 o Criteria No Criteria o[ No Criteria
Anthracene 9600 Y Y 003 AIlND. MDL<C. MEC=MDL 003 EC<C.aotoStep 5 Y Y 016 o detected value of B, Step o [UdMEC<C&Bis ND
enzidine 000012 Y Y 1 AIlND, MinDL>C, Go 1o Step 5. Y Y .3 o detected value of B, Step lo__[UD; effiuent data and B are
0.0044 Y Y .02 Al . MinDL>C. Go to Step 5. Y Y Y lo detected value of B, Step lo UD: effluent data anc are
) 0.0044 Y Y .02 AIlND, MinDL>C. Go to Step 5. Y Y Y o detected value of B, Step o[ UD; effluent data and B are
0.0044 Y Y .02 Al ). MinDL>C. Go to Step 5. Y Y Y lo detected value of B, Step lo UD: effluent data anc are
enzo(ahiPerylene No Criteria Y Y .02 No Criteria No Criteria No Criteria Y Y N o Criteria No Criteria o[ No Criteria
nzo(k)FlL 0044 Y Y 02 AllND. MinDL>C. Go to Step 5. & IM Y Y .. Y lo detected value of B. Step 7 lo UD: effluent data and B are ND
is(2-Chloroethoxy)Methane | No Criteria Y Y 8 No Criteria No Criteria No Criteria Y Y 03 N o Criteria No Criteria o[ No Criteria
is(2-Chloroethv)Ether 0.031 Y Y .7 AIlND. MinDL>C. Go to Sten 5. & IM Y Y 03 Y o detected value of B, Step 7 o [UD: effluent data and B are ND
is(2-Chloroisopropy) Ether 1400 Y Y AIlND, MDL<C. MEC=MDL 0. EC<C.qoloStep 5 Y Y 06 N o detected value of B, Step 7 0 |UdMEC<C &B is ND
is(2-EthvihexyPhthalate 18 Y Y AIlND. MDL<C. MEC=MDL X EC<C. a0t Step 5 Y N 06 <C. Step 7 o EC<C&B<C
Phenyl Ether || No Criteria Y Y No Criteria No Criteria o Criteria Y Y o Criteria. No Criteria o[ No Criteria
utvibenzyl Phthalate 3000 Y Y AIlND. MDL<C. MEC=MDL 0. EC<C. a0 to Step 5 Y Y o detected value of B, Step 7 o [UdMEC<C&Bis ND
-Ci 1700 Y Y AIlND, MDL<C. MEC=MDL 0. EC<C.qotoStep 5 Y Y o detected value of B, Step 7 0 |Ud:MEC<C&B is ND
C Phenyl Ether || No Criteria Y Y No Criteria No Criteria o Criteria Y Y o Criteria No Criteria o[ No Criteria
Chrysen: 0.0044 Y Y D, MinDL>C, Go (o Step 5. & IM Y Y o detected value of B, Step o[ UD; effluent data and B are ND
il @, nthracene 0.0044 Y Y Al ). MinDL>C. Go to Step 5. & IM Y Y Y lo detected value of B, Step lo UD: effluent data and B are ND
2 2700 Y Y AIlND, MDL<C. MEC=MDL 0.05 MEC<C.qo (o Step 5 Y Y N o detected value of B, Step 0 |Ud:MEC<C&B is ND
.3l 400 Y Y All ND. MDL<C. MEC=MDL 0.07 MEC<C. go to Step 5 Y Y N lo detected value of B, Step lo Ud:MEC<C & B is ND
4 400 Y N 02 02 MEC<C. qo (o Step Y Y N o detected value of B, Step o |Ud:MEC<C & B is ND
.. 0.04 Y Y .3 Al ). MinDL>C. Go to Step 5. & IM Y Y Y lo detected value of B, Step lo UD: effluent data and B are ND
Diethyl Phthalate 23000 Y Y .7 AIlND, MDL<C. MEC=MDL 07 MEC<C.qo (o Step 5 Y Y N o detected value of B, Step o is N
Dimethvl Phthalate 313000 Y Y All ND. MDL<C. MEC=MDL 0.6 MEC<C. go to Step 5 Y Y N lo detected value of B, Step lo is ND
-Butyl Phthalate 2700 Y Y AIlND, MDL<C. MEC=MDL 06 MEC<C. qo (o Step Y Y N o detected value of B, Step 0 |Ud:MEC<C & B is ND
.. Y Y Al ). MinDL>C. Go to Step 5. & IM Y Y Y lo detected value of B, Step lo UD: effluent data and B are ND
X No Criteria Y Y No Criteria No Criteria No Criteria Y Y N o Criteria No Criteria o[ No Criteria
-Octvl Phthalate No Criteria Y Y No Criteria No Criteria No Criteria Y Y N lo Criteria No Criteria o lo Criteria
. 004 Y Y AIlND, MinDL>C, Go o Step 5. & IM Y Y ¥ Y o detected value of B, Step o[ UD; effluent data and B are ND
Fl 300 Y Y 0 AIlND. MDL<C. MEC=MDL 003 MEC<C_qo (o Step 5 Y Y 0 N o detected value of B, Step o
Fluorene 1300 Y Y AIlND, MDL<C. MEC=MDL 0.02 MEC<C. qo to Step 5 Y Y 2 N o detected value of B, Step 0 |Ud:MEC<C & B is ND
0.00075 Y Y Al ). MinDL>C. Go to Step 5. & IM Y Y Y lo detected value of ten lo UD: effluent data and B are ND
44 Y Y AIlND, MinDL>C, Go to Step 5. & IM Y Y N o detected value of B, Step o[ UD; effluent data and B are ND
40 Y Y All ND. MDL<C. MEC=MDL 04 MEC<C. go to Step 5 Y Y N lo detected value of ten lo d: is ND
ne K] Y Y AIlND, MDL<C. MEC=MDL 06 MEC<C. qo (o Step Y Y ¥ N o detected value of B, Step o is ND
ndenol: -cd)Pyrene 0.0044 Y Y Al inDL>C. Goto Step 5. & IM Y Y 0.04 Y lo detected value of ten lo UD: effluent data and B are ND
isophorone . Y Y Al DL<C. MEC=MDL 05 MEC<C.qo (o Step 5 Y Y 03 N o detected value of B, Step 0 |Ud:MEC<C &B is ND
No Criteria Y Y No Criteria No Criteria No Criteria Y Y 0.05 N lo Criteria No Criteria o lo Criteria
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RPA Resutls for Outfall 002

[Eeginnin Step2 [Step3 Step2 _[Step3 Steps Step6 Steps7&8 [Final Resul
Concentration from
C (ng/L) the effluent (MEC) MECvs.C Bvs.C 7) Review other information in
Towest (most the SIP page 4. Ifinformation is
stringent) Ifall datapoints |  Enterthe (MEC= deteted If all data points ND | Enter the unavailable or insufficient: 8)
Criteria (Enter ||Effluent Data| Are all data | ND Enter the min [ pollutant efluent max value; if all ND & | 1. If MEC> or =C, effluent imitation B AreallBdata | Enter the min pollutant B the RWQCB shall establish
"No Criteria" || Available | pointsnon- | detectionlimit | detected max | Ifall data points are ND and MinDL>C, | MDL<C then MEC = | s required; 2. If MEC<C, goto Step | | Available | points non- detection limit | detected max | Ifall Bis ND, is [If B>C, effluentlimitationis |interim monitoring RPA
Constituent name for no criteria) | (Y/N)?_|detects (Y/NY?| _(MDL) (ua/L) conc (ua/L) interim monitorin is reauired MDL) 5 (YINY?_| detects (Y/NY2 | (MDL) (ua/L) conc (ua/L) MDL>C? _|required Result Reason
5 17 Y Y 07 Al ND, MDL<C. MEC=MDL 07 MEC<C. qo (o Step 5 Y Y o. N o detected value of B, Step o [UdMEC<C&BisND
6 0.00069 Y Y 0.f All ND. MinDL>C. Go to Step 5. & IM Y Y 0. Y lo detected value of B, Step lo UD: effluent data and B are ND
7__|N-Nitrosod Dy 0.005 Y Y 0 AIlND, MinDL>C, Go to Step 5. & IM Y Y 0 Y o detected value of B, Step o[ UD; effluent data and B are ND
8 5 Y Y 0.f All ND. MDL<C. MEC=MDL 0.f EC<C. qo to Step 5 Y Y 0. lo detected value of B, Step lo Ud:MEC<C & B is ND
No Criteria Y Y 002 No Criteria No Criteria o Criteria Y Y 003 o Criteria No Criteria o[ No Criteria
Pyrene 960 Y Y 002 AIlND. MDL<C. MEC=MDL 002 EC<C.aotoStep 5 Y Y 0 o detected value of B, Step 7 o [UdMEC<C&Bis ND
L2.4Ti No Criteria Y Y X No Critr No Criteria o Criteria Y Y 0. o Criteria No Criteria o[ No Criteria
Aldrin 0.00013 Y Y 002 AllND. MinDL>C. Go to Step 5. & IM Y Y .003 lo detected value of B, Step lo UD: effluent data and B are ND
alpha-BHC 0.0039 Y Y 003 AIlND, MDL<C. MEC=MDL 0.003 EC<C.qoloStep 5 Y Y 002 o detected value of B, Step o [ud; is N
beta-BHC 0.014 Y Y .003 All ND. MDL<C. MEC=MDL 0.003 EC<C. qo to Step 5 Y Y .001 lo detected value of ten lo U is ND
gamma-BHC 0019 Y Y .002 AIlND, MDL<C. MEC=MDL 0.002 EC<C.qotoStep 5 Y Y .001 o detected value of B, Step o |u is ND
delta-BHC No Criteria Y Y .002 N iteria No Criteria lo Criteria Y Y .001 lo Criteria No Criteria o
Chlordane 00057 Y Y .005 AIlND, MinDL>C. Go to Step 5. Y Y .005 o detected value of B, Step o_[u ta and B are
4.4-DDT .00059 Y Y .002 All ND. MinDL>C. Go to Step 5. Y Y .001 Y lo detected value of ten lo ) ita an are
4,4"DDE (iinked to DDT) 00059 Y Y .002 AIlND, MinDL>C, Go to Step Y Y .001 Y o detected value of B, Step o |u jata and B are
4.4-DDD .00083 Y Y .002 AAll ND. MinDL>C. Go to Step Y Y .001 Y lo detected value of ten lo ) ita an are
Dieldrin 00014 Y Y .002 AIND, MinDL>C. Go 1o Step Y Y .002 Y o detected value of B, Step o |u and B are
Ipha-Endosulf 0.056 Y Y .002 AIlND. MDL<C. MEC=MDL 002 EC<C.qo to Step Y Y .002 o detected value of B, Step o [u s
0056 Y Y .002 Al ND, MDL<C. MEC=! .002 EC<C. qo to Step Y Y .001 o detected value of B, Step o_[u s
Endosulfan Sulfate 110 Y Y .002 AIlND. MDL<C. MEC=MDL .002 EC<C. o to Step Y Y .001 o detected value of B, Step o [u s
ndrin 0036 Y Y .002 Al ND, MDL<C. MEC=! .002 EC<C. qo to Step Y Y .002 o detected value of B, Step o_[u s
ndrin Aldehyde 076 Y Y .002 AIND. C. MEC=MDL .002 EC<C. o to Step Y Y .002 o detected value of B, Step o [u s
eptachior 000021 Y Y .003 AIIND, MinDL>C. Go 10 Step 5. Y Y .003 o detected value of B, Step lo__[UD; effiuent data and B are
Heptachlor Epoxide’ 0.0001 Y Y 002 AIIND, MinDL>C. Go 0 Step 5. Y Y .002 Y o detected value of B, Step o[ UD: effluent data and B are
119-125| PCBs sum (2) 000017 Y Y 007 AIlND, MinDL>C. Go to Step 5. Y Y 034 Y o detected value of B, Step o[ UD; effluent data and B are
26 | Toxaphene 0.0002 Y Y 015 AIIND, MinDL>C. G o Step 5. Y Y 02 Y o detected value of B, Step o [UD: effiuent data and B are
Tributylin 0.072 Y Y 0.00048 [AIlND, MDL<C. MEC=MDL 0.00048 MEC<C.qo (o Step 5 Y Y 0.00139 N o detected value of B, Step o |Ud:MEC<C &B is ND

a. According to Table 1 of Sectin (b)(1) of CTR (40CFR 131.38), those criteria should use Basin Plan obiectives; criteria for Se ad CN are specified by the NTR.
b. Acronyms in the “Final Result" column: Ud: Cannot determine reasonable potential due to the absence of data or because Minimum DL is areater than water quality obiective or CTR criteria
IM: Interim monitoring is required



